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YJIT 100 [IYNX T
YJIT 60 "IYU T
YJIT 30 "WU’'IY T
YJIT 15 V' 2 T
YJIT 5 °U'DN T



5 X 100 = 500 YJIT 500 NNINN NOYV’XY D' 1DTYN NYDN M2V

25 X 60 = 1500 1JIT 1,500 NNINN I9NVXNY D’1DTYN 25 N1aY

125 X 30 = 3750 YJIT 3,750 NNIINA IDN0VXNY D’1DTYN 125 N1AV

625 X 15 = 9375 YJIT 9,375 NNIINN IDNVXAY D’1DTYnN 600 N1V

3125 X 5 = 15625 1JIT 15,625 NNINNA I9N0VXNY D’2DTYN 3,000 N1V



[12YUN IXI2 D'IVIDD NDX’ D 7V
500 + 1500 + 3750 + 9375 + 15625 = 30750

N 111,622 = $30750
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YUTIN2 D’IPVY 9,300 N’INNI NP NIYYT 7’2N X NTRJ
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